

WEEKLY LIST OF PLANNING, LICENSING & TREE APPLICATIONS REGISTERED: BETWEEN 04/09/2023 AND 10/09/2023

You can view a copy of the application and plans by visiting:www.merton.gov.uk/planningexplorer .

Please note that details of tree applications are only available on request at the Civic Centre.



Environment and Regeneration Department, Merton Civic Centre, London Road, Morden, Surrey SM4 5DX.

Page 2 of 14

Abbey				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2398	Abbey	05/09/23	Unknown Officer	0208 545
Proposed Developme	ent			
REAR GARDEN:				
IME x 3 - Reduc	e height and later	als by 2m to points of last reduction		
- Remove Ivy to				
_ocation		Agent	Atten: Mr G Trapp	
41A Pelham Road	k	Arbortech Tree Services	6 Hoskins Road	
Wimbledon SW19	9 1SU		Oxted	
			RH8 9HT	
oplications receive	ed in Abbey:1			
Cannon Hill				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2358	Cannon Hill	07/09/23	Lan Pham	^{0208 545} 4292
Proposed Developme	ent			
APPLICATION FO	OR A LAWFUL DE	VELOPMENT CERTIFICATE IN RESPEC	T OF THE PROPOSED ERECTION	OR A
REAR ROOF EXT	ENSION.			
ocation		Agent	Atten:	
224 Cannon Hill L	ane	Mr Kieran Reddie	48 Green Street	
Raynes Park			Chorleywood	
SW20 9BY			Rickmansworth	
			Hertfordshire	
			WD3 5QR	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2004	Cannon Hill	05/09/23	Lan Pham	^{0208 545} 4292
Proposed Developme				
		GE AND EXISTING REAR EXTENSION, I ND CONVERSION OF DWELLINGHOUSI		
ocation		Agent	Atten: Mr Kam Tai	
68 Cannon Hill La	ine	06020609	33 St. James's Square	
Raynes Park			London	
_ondon			SW1Y 4JS	
SW20 9ET				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2310	Cannon Hill	06/09/23	Martin Miranda Antel	^{0208 545} 3482
Proposed Developme	IRST FLOOR RE			
		Agent	Atten:	
10 Mawson Close	2	ADM Architecture	20 Giggs Hill Road	
Raynes Park			Thames Ditton	
SW20 9PA			KT7 0BT	
pplications receive	ed in Cannon Hill::	3		
Colliers Wood				
Application Number	Ward	Registration Date	Case Officer	Tel. Number

^{0208 545} 3297

Sarah Muckian

ERECTION OF A SINGLE STOREY WRAPAROUND EXTENSION.

Colliers Wood 07/09/23

23/P2305

Proposed Development

Location Agent Atten: Mr Mi	ke Beck
32 Warren Road Mike Beck Design Ltd 1 Stirling Close	•
Colliers Wood Frimley	
London Camberley	
SW19 2HX GU16 8SR	

Applications received in Colliers Wood: 1

Dundonald_histro	ic			
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2336 Proposed Developme 40 MERTON HAL LIMES x 6 - POLL	L ROAD	05/09/23	Unknown Officer	0208 545
3 THE QUADRAN HOLLY - PRUNE	т			
Location 40 Merton Hall Rc Quadrant Wimbledon Chase London SW19 3Q	9	Agent	Atten:	
pplications receive	d in Dundonald_hist	roic : 1		
Figges Marsh				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
EXTENSIONS, CO	REAR DORMER RO DNVERSION OF HO	06/09/23 DOF EXTENSION, PART SINGLE PAR DUSE INTO 4 X SELF-CONTAINED FLA CLE STORAGE AND OFF-STREET PA	TS WITH ASSOCIATED OUTSIDE	0208 545 4292
Location		Agent	Atten: Mr Joe Purcell	
11 Leather Close Mitcham CR4 2EX		Revive Renovations Ltd	Myrtle Cottage Royden Lane Boldre Hants SO41 8PJ	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2062 Proposed Developme		07/09/23 E (C3) INTO AN HMO (C4).	Lan Pham	0208 545 4292
Location Flat 1 & 2 11 Streatham Roa Mitcham CR4 2AD	ad	Agent Eade Planning Ltd	Atten: Shulem Posen OCC Building A 105 Eade Road London N4 1TJ	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2254	Figges Marsh	08/09/23	Tim Lipscomb	^{0208 545} 3496

Proposed Development

APPLICATION FOR DISCHARGE OF CONDITION 3 (WORKING METHOD STATEMENT), CONDITION 4 (DRAINAGE STRATEGY), CONDITION 11 (INTERNAL WATER USAGE), CONDITION 12 (ECOLOGICAL ENHANCEMENT SCHEME) ATTACHED TO LBM PLANNING PERMISSION 22/P2742 RELATING TO THE [EXTENSION OF EXISTING HOUSE BY WAY OF 2 STOREY SIDE EXTENSION, 2 STOREY REAR EXTENSION, LOFT EXTENSIONS AND NEW FRONT ROOFLIGHTS. ALL IN CONJUNCTION WITH CONVERSION OF EXISTING PROPERTY TO CREATE 1 X 3 BEDROOM UNIT, 2 X 2 BEDROOM UNITS AND 1 X 1 BEDROOM UNITS.

Location	Agent	Atten:	Mr Andrew Macswayed
17 Clarendon Grove	Eurohaus Ltd	196 Higl	n Road
Mitcham		Wood G	reen
CR4 2PH		N22 8H	4

Applications received in Figges Marsh: 3

Graveney				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2300	Graveney	07/09/23	Rebecca Martin-Fr	^{0208 545} 3296
		AND CHANGE OF USE OF DWELLIN SE STORES	G FROM C3 TO C4 (6B6P HMO) AND	
Location		Agent	Atten: Shulem	
95 PARK AVENU MITCHAM SURREY CR4 2ES	ΙE	Eade Planning Ltd	OCC Building A 105 Eade Road London N4 1TJ	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2232 Proposed Developme	Graveney	06/09/23	Myles Bartoli	^{0208 545} 020 854
		ER FIRST FLOOR REAR EXTENSION	S.	
Location 47A London Road Tooting London SW17 9JR	5	Agent Planning Additions	Atten: Mr Abdul Shei 109 Bodley Road New Malden London KT3 5QJ	kh
Application Number	Ward	Registration Date	Case Officer	Tel. Number
	OR A LAWFUL D	07/09/23 EVELOPMENT CERTIFICATE IN RESP IN REAR GARDEN	Lan Pham PECT OF THE PROPOSED ERECTION	^{0208 545} 4292
Location		Agent	Atten: Mr Irfan Tailor	
31 Gorringe Park Mitcham Surrey CR4 2DH	Avenue	Sufair Ltd	36 Wolsey Crescent New Addington Croydon CR0 0PE	
Applications receive	ed in Graveney: 3			
Hillside				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2408	Hillside	05/09/23	Unknown Officer	0208 545

Proposed Development MAGNOLIA - prune. Page 5 of 14

cation		Agent	Atten:	
Courthope Villas				
pplication Number	Ward	Registration Date	Case Officer	Tel. Number
3/T2414 roposed Developme	Hillside	05/09/23	Unknown Officer	0208 545
•	HEIGHT BY UP TO	O MAXIMUM OF 1.5 METRES AND SPR	EAD BY MAXIMUM OF 1m	
ocation 20 Spencer Hill Vimbledon SW19 4NY		Agent Bartlett Tree Experts	Atten: Mr T Holliday Unit 2D Kallos Building Coopers Place Coombe Lane Wormley Guildford GU8 5SY	I
pplication Number	Ward	Registration Date	Case Officer	Tel. Number
3/T2416 proposed Developme	Hillside	05/09/23	Unknown Officer	0208 545
	E HEIGHT AND S	AND SPREAD TO PREVIOUS POINTS (SPREAD TO PREVIOUS POINTS (MAXI)	-	
ocation		-		
.ocation I Sunnyside Wimbledon SW19	94SL	Bartlett Tree Experts	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford GU8 5SY	
Sunnyside Vimbledon SW19 pplications receive		-	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford	I
Sunnyside Vimbledon SW19 oplications receive		-	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford GU8 5SY	
Sunnyside	ed in Hillside : 3 Ward	-	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford GU8 5SY Case Officer	Tel. Number
Sunnyside Vimbledon SW19 oplications receive congthornton opplication Number 3/P2227 Proposed Developme APPLICATION FO CONSTRUCTION PLANNING PERM	ward Longthornton ent DR DISCHARGE C N LEVEL DETAIL	Bartlett Tree Experts	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford GU8 5SY Case Officer Tim Lipscomb EHICLES) & CONDITION 12 VATER DRAINAGE) ATTACHED TO PART SINGLE PART TWO STOREY	Tel. Number 0208 545 3496
Sunnyside Vimbledon SW19 oplications receive congthornton Application Number 23/P2227 Proposed Developme APPLICATION FC CONSTRUCTION PLANNING PERM EXTENSION TO F ocation and Adjacent to <i>V</i> itcham	ward Longthornton ent DR DISCHARGE C N LEVEL DETAIL	Bartlett Tree Experts Registration Date 07/09/23 DF CONDITION 10 (CONSTRUCTION VI SCHEME FOR SURFACE AND FOUL W D RELATING TO THE ERECTION OF A	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford GU8 5SY Case Officer Tim Lipscomb EHICLES) & CONDITION 12 VATER DRAINAGE) ATTACHED TO PART SINGLE PART TWO STOREY	Tel. Number 0208 545 3496
Sunnyside Vimbledon SW19 oplications receive ongthornton pplication Number 3/P2227 roposed Developme PPLICATION FO CONSTRUCTION CONSTRU	ward Longthornton ont DR DISCHARGE (N LEVEL DETAIL MISSION 23/P1400 FORM 2 X SELF (Registration Date 07/09/23 OF CONDITION 10 (CONSTRUCTION VI SCHEME FOR SURFACE AND FOUL W D RELATING TO THE ERECTION OF A CONTAINED FLATS AT GROUND AND I	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford GU8 5SY Case Officer Tim Lipscomb EHICLES) & CONDITION 12 VATER DRAINAGE) ATTACHED TO PART SINGLE PART TWO STOREY FIRST FLOOR LEVEL	Tel. Number 0208 545 3496
Sunnyside Vimbledon SW19 oplications receive ongthornton opplication Number 3/P2227 roposed Developme SPLICATION FC CONSTRUCTION FCANNING PERM SXTENSION TO F ocation and Adjacent to ditcham SR4_1AL opplication Number	Ward Longthornton DR DISCHARGE (N LEVEL DETAIL MISSION 23/P1400 FORM 2 X SELF (32 Oakleigh Way Ward	Registration Date 07/09/23 OF CONDITION 10 (CONSTRUCTION VI SCHEME FOR SURFACE AND FOUL W O RELATING TO THE ERECTION OF A I CONTAINED FLATS AT GROUND AND I Agent	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford GU8 5SY Case Officer Tim Lipscomb EHICLES) & CONDITION 12 PATER DRAINAGE) ATTACHED TO PART SINGLE PART TWO STOREY FIRST FLOOR LEVEL Atten:	Tel. Number 0208 545 3496 O LBM 7 SIDE
Sunnyside Vimbledon SW19 oplications receive ongthornton ongthornton ongthornton oplication Number 3/P2227 roposed Developme PLICATION FO CONSTRUCTION CONSTRUCTI	ward Longthornton ent DR DISCHARGE (N LEVEL DETAIL MISSION 23/P1400 FORM 2 X SELF (32 Oakleigh Way Ward Longthornton ent DR A LAWFUL DE	Bartlett Tree Experts Registration Date 07/09/23 DF CONDITION 10 (CONSTRUCTION VI SCHEME FOR SURFACE AND FOUL W D RELATING TO THE ERECTION OF A D CONTAINED FLATS AT GROUND AND D Agent Registration Date	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford GU8 5SY Case Officer Tim Lipscomb EHICLES) & CONDITION 12 PATER DRAINAGE) ATTACHED TO PART SINGLE PART TWO STOREY FIRST FLOOR LEVEL Atten: Case Officer Lan Pham CT OF THE PROPOSED CONVERS	Tel. Number 0208 545 3496 0 LBM SIDE Tel. Number 0208 545 0208 545 0208 545 0208 545 0208 545

Lower Morden				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
		07/09/23 /ELOPMENT CERTIFICATE IN RESPEC N.	Rebecca Martin-Fr	^{0208 545} 3296 DF A
Location 18 Aragon Place Morden SM4 4QD		Agent NSA Architects	Atten: Mr M Nwankwo Unit 2 166 Middleton Road Morden SM4 6RW	
Applications receive	ed in Lower Morden :	1		
Merton Park				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
	I: TREE OF HEAVE	05/09/23 IN TO BE CROWN REDUCED BY APPRO LETION OF WORKS.	Unknown Officer	0208 545 /E A
Location 2 Langley Road Merton Park SW19 3NZ		Agent	Atten:	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2405 Proposed Developme HOLLY x 4 & HC	Merton Park ent DLLY HEDGE - TRII	05/09/23 M	Unknown Officer	0208 545
Location		Agent	Atten: Mr H Waitt	
22 Melrose Road Merton Park SW19 3HG		Avid Arboriculture	27 Old Gloucester Street WC1N 3AX	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2421 Proposed Developme Rear Silver Birch - red		05/09/23 to last cutting points)	Unknown Officer	0208 545
Location		Agent	Atten: Mr D Cook	
8 Melrose Road Merton Park SW1	9 3HG	Wimbledon Tree Surgeons	28 Leamington Avenue Morden SM4 4DW.	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2289 Proposed Developme	Merton Park	08/09/23	Tim Lipscomb	^{0208 545} 3496
LANDSCAPING), CONDITION 13 (7 CONDITION 16 (0 (CONTAMINATIO	CONDITION 6 (FIN TREE ARBORICUL CONSTRUCTION L DN), CONDITION 19	F CONDITION 3 (EXTERNAL MATERIAL IISHED FLOOR LEVEL), CONDITION 12 TURE STATEMENT), CONDITION 15 (W OGISTICS PLAN), CONDITION 17 (SW A (REMEDIATION STATEMENT) AND CO	(LANDSCAPING AND PLANTING), ORKING METHOD STATEMENT), ND FOUL DRAINAGE), CONDITION NDITION 23 (INTERNAL WATER	

CONSUMPTION RATES), ATTACHED TO LBM PLANNING PERMISSION 23/P1851 RELATING TO THE VARIATION OF CONDITION 2 (DRAWING NUMBERS) OF APPLICATION REF. 22/P2423: REDEVELOPMENT OF PART OF CO-OP CAR PARK TO PROVIDE 9 APARTMENTS (USE CLASS C3) WITHIN A 3 STOREY BUILDING, TOGETHER WITH BIN AND BIKE STORAGE, LANDSCAPING AND A NEW PEDESTRIAN ACCESS. Page 7 of 14

ocation		Agent	Atten: Mr Ian Hambly	
o-op	Deed	Mr Ian Hambly	5 Strafford Way	
76-288 Kingston Raynes Park	Road		Thame OX9 3XX	
SW20 8LX			0,79,377	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2423	Merton Park	05/09/23	Unknown Officer	0208 545
Proposed Developme	ent			
Rear Silver Birch - red	uco by 3-4m (back	< to last cutting points)		
ocation	uce by 5-4m (back		Atten: Mr. D. Cook	
40 Mostyn Road		_{Agent} Wimbledon Tree Surgeons	Atten: Mr D Cook 28 Leamington Avenue	
London		Winbledon free Surgeons	Morden	
SW19 3LN			SM4 4DW.	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
3/T2422	Merton Park	05/09/23	Unknown Officer	0208 545
Proposed Developme		00/09/20		
Rear				
	uce 3-4 lateral bra	nches (which extend beyond canopy) and re	move the 2 lowest branches;	
emove major de				
ocation		Agent	Atten: Mr D Cook	
3 Melrose Road		Wimbledon Tree Surgeons	28 Leamington Avenue	
Merton Park SW1	9 3HG		Morden	
			SM4 4DW.	
-	ed in Merton Park: 6	3		
Pollards Hill			Case Officer	Tel. Number
Pollards Hill	Ward	Registration Date	Case Officer Sarah Muckian	Tel. Number
Pollards Hill Application Number 23/P2327	Ward Pollards Hill		Case Officer Sarah Muckian	
Pollards Hill Application Number 23/P2327 Proposed Developme	Ward Pollards Hill ent	Registration Date 04/09/23	Sarah Muckian	0208 545 3297
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FC	Ward Pollards Hill ent DR A CERTIFICAT	Registration Date	Sarah Muckian	0208 545 3297
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S	Ward Pollards Hill ent DR A CERTIFICAT	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE	Sarah Muckian	0208 545 3297
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S Location	Ward Pollards Hill ent OR A CERTIFICAT SUI GENERIS)	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent	Sarah Muckian E OF DWELLINGHOUSE AS A T Atten: Glen	0208 545 3297
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S Location 162A Chestnut Gi	Ward Pollards Hill ent OR A CERTIFICAT SUI GENERIS)	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE	Sarah Muckian E OF DWELLINGHOUSE AS A ^{Atten:} Glen 41A Birdhurst Rise	0208 545 3297
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S ocation 62A Chestnut Gi <i>I</i> itcham	Ward Pollards Hill ent OR A CERTIFICAT SUI GENERIS)	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent	Sarah Muckian E OF DWELLINGHOUSE AS A T Atten: Glen	0208 545 3297
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S ocation 62A Chestnut Gi Altcham CR4 1RB	Ward Pollards Hill ent OR A CERTIFICAT SUI GENERIS)	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent	Sarah Muckian E OF DWELLINGHOUSE AS A ^{Atten:} Glen 41A Birdhurst Rise London	0208 545 3297
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FC PERSON HMO (S Location 162A Chestnut Gr Mitcham CR4 1RB Application Number	Ward Pollards Hill ent OR A CERTIFICAT SUI GENERIS) rove	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited	Sarah Muckian E OF DWELLINGHOUSE AS A ^{Atten:} Glen 41A Birdhurst Rise London CR2 7EJ	^{0208 545} 3297 7
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S cocation 162A Chestnut Gi Mitcham CR4 1RB Application Number 23/P2282	Ward Pollards Hill ent OR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer	0208 545 3297 7 Tel. Number
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FC PERSON HMO (S Location 162A Chestnut Gi Mitcham CR4 1RB Application Number 23/P2282 Proposed Developme ERECTION OF A	Ward Pollards Hill ent OR A CERTIFICAT SUI GENERIS) rove Ward Pollards Hill ent	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FC PERSON HMO (S Location 162A Chestnut Gi Mitcham CR4 1RB Application Number 23/P2282 Proposed Developme ERECTION OF A ROOF SLOPE. Location	Ward Pollards Hill ent OR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill ent SINGLE STOREY	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date 07/09/23	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S Location 162A Chestnut Gi Mitcham CR4 1RB Application Number 23/P2282 Proposed Developme ERECTION OF A ROOF SLOPE. Location 22 New Barns Ave	Ward Pollards Hill ent OR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill ent SINGLE STOREY	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date 07/09/23 REAR EXTENSION AND ERECTION OF A LO	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham FT EXTENSION IN THE REAR	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S cocation 162A Chestnut Gr Mitcham CR4 1RB Application Number 23/P2282 Proposed Developme ERECTION OF A ROOF SLOPE. cocation 22 New Barns Ave Mitcham	Ward Pollards Hill ent OR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill ent SINGLE STOREY	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date 07/09/23 REAR EXTENSION AND ERECTION OF A LO Agent	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham FT EXTENSION IN THE REAR Atten: Mr Martin 14 St. Johns Hill Grove London	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FC PERSON HMO (S -ocation 162A Chestnut Gr Mitcham CR4 1RB Application Number 23/P2282 Proposed Developme ERECTION OF A ROOF SLOPE. -ocation 22 New Barns Ave Mitcham	Ward Pollards Hill ent OR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill ent SINGLE STOREY	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date 07/09/23 REAR EXTENSION AND ERECTION OF A LO Agent	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham FT EXTENSION IN THE REAR Atten: Mr Martin 14 St. Johns Hill Grove	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FO PERSON HMO (S ocation 62A Chestnut Gi Alitcham CR4 1RB Application Number 23/P2282 Proposed Developme ERECTION OF A ROOF SLOPE. ocation 22 New Barns Ave Alitcham CR4 1LE	Ward Pollards Hill ent DR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill ent SINGLE STOREY enue	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date 07/09/23 REAR EXTENSION AND ERECTION OF A LO Agent Martin Reynolds Design Limited	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham FT EXTENSION IN THE REAR Atten: Mr Martin 14 St. Johns Hill Grove London	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292
Pollards Hill Application Number 3/P2327 Proposed Developme APPLICATION FO PERSON HMO (Sociation 62A Chestnut Gi Alitcham CR4 1RB Application Number 3/P2282 Proposed Developme ERECTION OF A ROOF SLOPE. Ocation 22 New Barns Ave Alitcham CR4 1LE	Ward Pollards Hill ent OR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill ent SINGLE STOREY	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date 07/09/23 REAR EXTENSION AND ERECTION OF A LO Agent Martin Reynolds Design Limited	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham FT EXTENSION IN THE REAR Atten: Mr Martin 14 St. Johns Hill Grove London	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FC PERSON HMO (S cocation 162A Chestnut Gi Mitcham CR4 1RB Application Number 23/P2282 Proposed Developme ERECTION OF A ROOF SLOPE. cocation 22 New Barns Ave Mitcham CR4 1LE pplications receive	Ward Pollards Hill ent DR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill ent SINGLE STOREY enue	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date 07/09/23 REAR EXTENSION AND ERECTION OF A LO Agent Martin Reynolds Design Limited	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham FT EXTENSION IN THE REAR Atten: Mr Martin 14 St. Johns Hill Grove London	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292
Pollards Hill Application Number 23/P2327 Proposed Developme APPLICATION FC PERSON HMO (S Location 162A Chestnut Gi Mitcham CR4 1RB Application Number 23/P2282 Proposed Developme ERECTION OF A ROOF SLOPE. Location 22 New Barns Ave Mitcham CR4 1LE	Ward Pollards Hill ent DR A CERTIFICAT GUI GENERIS) rove Ward Pollards Hill ent SINGLE STOREY enue	Registration Date 04/09/23 E OF LAWFULNESS FOR THE EXISTING USE Agent Bonnystreet (Town) Planning Limited Registration Date 07/09/23 REAR EXTENSION AND ERECTION OF A LO Agent Martin Reynolds Design Limited	Sarah Muckian E OF DWELLINGHOUSE AS A Atten: Glen 41A Birdhurst Rise London CR2 7EJ Case Officer Lan Pham FT EXTENSION IN THE REAR Atten: Mr Martin 14 St. Johns Hill Grove London	^{0208 545} 3297 7 Tel. Number ^{0208 545} 4292

Registration Date

07/09/23

Ward

Application Number

23/P2263

Case Officer Lan Pham

COMMUNICATIO	NO AFFARATUS			
01 .illeshall Road <i>I</i> orden	onic pparatus Opposite ed in Ravensbury : 1	Agent Open Reach	^{Atten:} Nirisha Tanka None Given	la
Raynes Park	Mard	Devictorian Dete	Case Officer	Tel. Number
Application Number	Ward	Registration Date		0000 545
3/P2329 roposed Developme	Raynes Park	04/09/23	Stephen Hill	0208 545 4378
• •		REAR EXTENSION.		
ocation 46 Worple Road Raynes Park ondon 6W20 8RH		Agent RDK Civil Engineering Limited	Atten: Mr Ranga Kal 1 Fernhill Court Fernhill Almondsbury Bristol BS32 4LX	upahana
pplication Number	Ward	Registration Date	Case Officer	Tel. Number
3/P2165 roposed Developme PPLICATION F	OR A LAWFUL DE	Registration Date 07/09/23 /ELOPMENT CERTIFICATE IN RESPECT (ED FLATS INTO A SINGLE DWELLINGHO	David Gardener OF THE PROPOSED CONVERS	^{0208 545} 3115
3/P2165 roposed Developme PPLICATION F(HE EXISTING 2 NTERNAL AND pocation 9 & 41 Cambridg aynes Park	Raynes Park ent DR A LAWFUL DEN X SELF CONTAINE EXTERNAL ALTER	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT (ED FLATS INTO A SINGLE DWELLINGHO	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London	^{0208 545} 3115 SION OF
3/P2165 roposed Developme PPLICATION FO HE EXISTING 2 NTERNAL AND Docation 9 & 41 Cambridg Raynes Park	Raynes Park ent DR A LAWFUL DEN X SELF CONTAINI EXTERNAL ALTER ge Road	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT (ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE	^{0208 545} 3115
3/P2165 roposed Developme PPLICATION F(HE EXISTING 2 NTERNAL AND ocation 9 & 41 Cambrid Raynes Park W20 0QB	Raynes Park ent DR A LAWFUL DEN X SELF CONTAINE EXTERNAL ALTER ge Road Ward	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT of ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning Registration Date	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer	0208 545 3115 SION OF R phy Tel. Number
3/P2165 roposed Developme PPLICATION FO THE EXISTING 2 NTERNAL AND 9 & 41 Cambridg Raynes Park W20 0QB W20 0QB SPPlication Number 3/P2164 roposed Developme CONVERSION O	Raynes Park ent DR A LAWFUL DEN X SELF CONTAINI EXTERNAL ALTER ge Road Ward Raynes Park ent F THE EXISTING 2	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT (ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer David Gardener	0208 545 3115 SION OF R phy Tel. Number
3/P2165 roposed Developme PPLICATION F(HE EXISTING 2 NTERNAL AND 9 & 41 Cambridg aynes Park W20 0QB pplication Number 3/P2164 roposed Developme ONVERSION OI SSOCIATED MI pocation	Raynes Park ent DR A LAWFUL DEN X SELF CONTAIN EXTERNAL ALTER ge Road Ward Raynes Park ent F THE EXISTING 2 NOR INTERNAL A	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT OF ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning Registration Date 07/09/23 X SELF CONTAINED FLATS INTO A SING ND EXTERNAL ALTERATIONS Agent	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer David Gardener SLE DWELLINGHOUSE AND Atten: Mr Philip Dun	0208 545 3115 SiON OF Phy Tel. Number 0208 545 3115
THE EXISTING 2 NTERNAL AND ocation 39 & 41 Cambridg Raynes Park 3W20 0QB Application Number 23/P2164 Proposed Developme CONVERSION O	Raynes Park ent DR A LAWFUL DEN X SELF CONTAIN EXTERNAL ALTER ge Road Ward Raynes Park ent F THE EXISTING 2 NOR INTERNAL A	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT OF ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning Registration Date 07/09/23 X SELF CONTAINED FLATS INTO A SING ND EXTERNAL ALTERATIONS	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer David Gardener SLE DWELLINGHOUSE AND	0208 545 3115 SiON OF Phy Tel. Number 0208 545 3115
3/P2165 roposed Developme PPLICATION F(HE EXISTING 2 NTERNAL AND 9 & 41 Cambridg aynes Park W20 0QB pplication Number 3/P2164 roposed Developme SOVVERSION OI SSOCIATED MI ocation 9 & 41 Cambridg aynes Park W20 0QB	Raynes Park ent DR A LAWFUL DEN X SELF CONTAIN EXTERNAL ALTER ge Road Ward Raynes Park ent F THE EXISTING 2 NOR INTERNAL A	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT OF ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning Registration Date 07/09/23 X SELF CONTAINED FLATS INTO A SING ND EXTERNAL ALTERATIONS Agent	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer David Gardener SLE DWELLINGHOUSE AND Atten: Mr Philip Dun 86-90 Paul Street London	0208 545 3115 SiON OF Phy Tel. Number 0208 545 3115
3/P2165 roposed Developme PPLICATION F(HE EXISTING 2 NTERNAL AND 9 & 41 Cambridg aynes Park W20 0QB pplication Number 3/P2164 roposed Developme SONVERSION O SSOCIATED MI ocation 9 & 41 Cambridg aynes Park W20 0QB pplication Number	Raynes Park ent DR A LAWFUL DEN X SELF CONTAIN EXTERNAL ALTER ge Road Ward Raynes Park ent F THE EXISTING 2 NOR INTERNAL AN ge Road Ward	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT OF ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning Registration Date 07/09/23 X SELF CONTAINED FLATS INTO A SING ND EXTERNAL ALTERATIONS Agent Causeway Planning	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer David Gardener SLE DWELLINGHOUSE AND Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer	0208 545 3115 Sign OF Phy Tel. Number 0208 545 3115
3/P2165 roposed Developme PPLICATION F(HE EXISTING 2 NTERNAL AND 9 & 41 Cambridg aynes Park W20 0QB pplication Number 3/P2164 roposed Developme CONVERSION OI SSOCIATED MI ocation 9 & 41 Cambridg aynes Park W20 0QB splication Number 3/P2190 roposed Developme RECTION OF A	Raynes Park ent DR A LAWFUL DEN X SELF CONTAIN EXTERNAL ALTER ge Road Ward Raynes Park ent F THE EXISTING 2 NOR INTERNAL AU ge Road Ward Raynes Park ent	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT of ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning Registration Date 07/09/23 X SELF CONTAINED FLATS INTO A SING ND EXTERNAL ALTERATIONS Agent Causeway Planning Registration Date 04/09/23 PAROUND REAR EXTENSION, FACADE A	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer David Gardener SLE DWELLINGHOUSE AND Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer Stephen Hill	0208 545 3115 SIGN OF Tel. Number 0208 545 3115 phy Tel. Number 0208 545 4378
23/P2165 Proposed Developme APPLICATION FO THE EXISTING 2 NTERNAL AND ocation 89 & 41 Cambridg Raynes Park W20 0QB Application Number 23/P2164 Proposed Developme CONVERSION OF ASSOCIATED MI ocation 89 & 41 Cambridg Raynes Park W20 0QB Application Number 23/P2190 Proposed Developme ERECTION OF A	Raynes Park ent DR A LAWFUL DEN X SELF CONTAIN EXTERNAL ALTER ge Road Ward Raynes Park ent F THE EXISTING 2 NOR INTERNAL A ge Road Ward Raynes Park ent PROPOSED WRAI	07/09/23 /ELOPMENT CERTIFICATE IN RESPECT of ED FLATS INTO A SINGLE DWELLINGHO ATIONS Agent Causeway Planning Registration Date 07/09/23 X SELF CONTAINED FLATS INTO A SING ND EXTERNAL ALTERATIONS Agent Causeway Planning Registration Date 04/09/23 PAROUND REAR EXTENSION, FACADE A	David Gardener OF THE PROPOSED CONVERS USE AND ASSOCIATED MINOR Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer David Gardener SLE DWELLINGHOUSE AND Atten: Mr Philip Dun 86-90 Paul Street London EC2A 4NE Case Officer Stephen Hill	0208 545 3115 SIGN OF Tel. Number 0208 545 3115 phy Tel. Number 0208 545 4378

Applications received in Raynes Park : 4

Village				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2331	Village	04/09/23	Stephen Hill	^{0208 545} 4378
Proposed Developme ERECTION OF RI AND PEDESTRIA	EPLACEMENT	FENCES TO WEST, NORTH & EAST BOU	NDARIES, INCLUDING NEW VEHICLE	E
Location 16 Preston Road West Wimbledon London SW20 0SS		Agent Tibbatts Design Limited	Atten: Mr Matthew Ben 161-162 Warstone Lane Birmingham B18 6NN	nett
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2397 Proposed Developme FRONT GARDEN		05/09/23	Unknown Officer	0208 545
LIME - Reduce cr	own back to pr	evious points of reduction		
Location 14c Homefield Ro Wimbledon SW19		Agent Edward Payne & Co	Atten: Mr E Payne 94 Ribblesdale Road London SW16 6SE	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2236	Village	08/09/23	Charlotte Gilhooly	^{0208 545} 4028
Proposed Developme ERECTION OF A		EY OUTBUILDING IN REAR GARDEN.		
Location 5 Copse Hill Wimbledon SW20 0NB		Agent Pembroke Planning	Atten: Mr David Grahar 60 High Street Wimbledon London SW19 5EE	n
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2420	Village	05/09/23	Unknown Officer	0208 545
Proposed Developme	-			
and mitigate stor	m damage	height and reduce all remaining compas	points by approx 2m to reduce weig	nt
	γ αμμιύχ 1.310 Ι	from all aspects to shape	Au	
Location 5 Peregrine Way West Wimbledon London SW19 4R	N	Agent GraftinGardeners Ltd	Atten: Mr A Arnold 45 Swanwick Close Roehampton SW15 4ES	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2418	Village	05/09/23	Unknown Officer	0208 545
Proposed Developme LIME x 3 - REPOI	nt			
Location 5 Sunnyside Wimbledon SW19	4SH	Agent	Atten:	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2416	Village	05/09/23	Unknown Officer	0208 545

ge 10 of 14				
CRAB APPLE - RE	CE HEIGHT AND SP EDUCE HEIGHT ANI E HEIGHT AND SPR	READ TO PREVIOUS POINTS (MAXIMUM OF 2) SPREAD TO PREVIOUS POINTS (MAXIMUM (EAD TO PREVIOUS POINTS (MAXIMUM OF 2M	DF 2M)	
Location		Agent	Atten: Mr T Holliday	
4 Sunnyside Wimbledon SW19	4SL	Bartlett Tree Experts	Unit 2D Kallos Building Coopers Place Coombe Lane Guildford	
			GU8 5SY	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2413	Village	05/09/23	Unknown Officer	0208 545
Proposed Developmen FRONTGARDEN. ASH TREE, CROW		6AND REMOVE IVY . FORMATIVE PRUNE AND	DEADWOOD.	
Location		Agent	Atten:	
17 Belvedere Drive Wimbledon Village SW19 7BU		g		
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2411	Village	05/09/23	Unknown Officer	0208 545
Proposed Developmen Front garden Honey Locust tree		uce the crown by 30%, approx; thin by 10% and	l lift the lower canopy	
Location		Agent	Atten: Mr J Ayres	
38 Lingfield Road Wimbledon London SW19 4PZ		Ayres Treefellers	28 Edgehill Road Mitcham Surrey CR4 2HU	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2410	Village	05/09/23	Unknown Officer	0208 545
Proposed Developmen				
Ash - crown reduc	ce by approx 2m. La	teral branches to south/south west to be reduc	ed by up to 3m	
Location		Agent	Atten: Mr P Davids	
17 Bathgate Road London SW19 5PW		Benton Arboricultural	22 Orchard Hill Rudgwick RH12 3EQ	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2404	Village	05/09/23	Unknown Officer	0208 545
Proposed Developmen REAR	nt			
Sycamore - full cr	own reduction of ap	prox 2.5 m		
Location		Agent	Atten: Mr M Flynn	
174 Cottenham Pa West Wimbledon SW20 0SX	ırk Road	Flynn Tree Care	19 Taunton Avenue London SW20 0BH	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2401	Village	05/09/23	Unknown Officer	0208 545
Proposed Developmen				
Taxus - Reduce by Prunus - prune ap				

Apple - prune and shape, removing approx 1m

Page 11 of 14

		Agent	Atten:	
121 Ridgway Wimbledon				
SW19 4RE		Descintention Data	Case Officer	Tel. Number
Application Number	Ward	Registration Date		0208 545
23/T2400	Village	05/09/23	Unknown Officer	0206 545
Proposed Developme Rear garden Large Whitebean				
ocation		Agent	Atten: Mr D Cook	
31 Lingfield Road		Wimbledon Tree Surgeons	28 Leamington Avenue	
Wimbledon SW19	9 4PU		Morden	
Application Number		Devilation Data	SM4 4DW. Case Officer	Tel. Number
Application Number	Ward	Registration Date		
23/T2399	Village	05/09/23	Unknown Officer	0208 545
Proposed Developme 3 MCKAY ROAD	ent			
REAR GARDEN				
-	ine the overgrow	wn crown and reduce overhanging branch	es by 1m maximum	
FRONT GARDEN	-		-	
Palm - fell				
1 MACKAY ROAI				
Cherry - reduce o	overhanging 2 b	ranches to the boundary		
All works will be	undertaken by p	professional tree surgeons		
Location		Agent	Atten: Mr E Payne	
	4	Edward Payne & Co	94 Ribblesdale Road	
1 & 3 Mckay Road West Wimbledon			London SW16 6SE	
West Wimbledon	SW20 0HT		London	
-	SW20 0HT		London	
West Wimbledon pplications receive Wandle	SW20 0HT	Registration Date	London	Tel. Number
West Wimbledon pplications receive Wandle Application Number	SW20 0HT		London SW16 6SE	Tel. Number 0208 545 4292
West Wimbledon pplications receive Wandle Application Number 23/P2149	SW20 0HT ed in Village : 13 Ward Wandle	Registration Date	London SW16 6SE Case Officer	
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION F(SW20 0HT ed in Village : 13 Ward Wandle ent DR A LAWFUL D	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC	London SW16 6SE Case Officer Lan Pham	0208 545 4292
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION FC REAR DORMER	SW20 0HT ed in Village : 13 Ward Wandle ent DR A LAWFUL D	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON.	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION O	^{0208 545} 4292 DF A
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION FC REAR DORMER	SW20 0HT ed in Village : 13 Ward Wandle ent DR A LAWFUL D	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION (Atten: Mr Nick Horvath	^{0208 545} 4292 DF A
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION FO REAR DORMER	SW20 0HT ed in Village : 13 Ward Wandle ent DR A LAWFUL D	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON. Agent	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION O	^{0208 545} 4292 DF A
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION FO REAR DORMER Location 30 Grove Road Colliers Wood London	SW20 0HT ed in Village : 13 Ward Wandle ent DR A LAWFUL D	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON. Agent	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION Atten: Mr Nick Horvath The Old Bakery 8A Replingham Road London	^{0208 545} 4292 DF A
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION FO REAR DORMER Location 30 Grove Road Colliers Wood London	SW20 0HT ed in Village : 13 Ward Wandle ent DR A LAWFUL D	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON. Agent	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION of Atten: Mr Nick Horvath The Old Bakery 8A Replingham Road	^{0208 545} 4292 DF A
West Wimbledon pplications receive Nandle Application Number 23/P2149 Proposed Developme APPLICATION FO REAR DORMER Cocation 30 Grove Road Colliers Wood London SW19 1BL	SW20 0HT ed in Village : 13 Ward Wandle ent DR A LAWFUL D	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON. Agent	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION Atten: Mr Nick Horvath The Old Bakery 8A Replingham Road London	^{0208 545} 4292 DF A
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION FC REAR DORMER Location 30 Grove Road Colliers Wood London SW19 1BL Application Number	SW20 0HT ed in Village : 13 Ward Wandle ent DR A LAWFUL D ROOF EXTENSIO	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON. Agent MOMO & CO. Design Ltd	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION (Atten: Mr Nick Horvath The Old Bakery 8A Replingham Road London SW18 5LS	^{0208 545} 4292 DF A
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme	SW20 0HT ed in Village : 13 Ward Ward OR A LAWFUL D ROOF EXTENSION Ward Ward	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON. Agent MOMO & CO. Design Ltd Registration Date	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION of Atten: Mr Nick Horvath The Old Bakery 8A Replingham Road London SW18 5LS Case Officer	^{0208 545} 4292 DF A Tel. Number
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION FC REAR DORMER Location 30 Grove Road Colliers Wood London SW19 1BL Application Number 23/P2084 Proposed Developme APPLICATION FC ASSESSMENT), 3	SW20 0HT ed in Village : 13 Ward Ward Wandle ent DR A LAWFUL D ROOF EXTENSION Ward Ward Ward Ward CR VARIATION (37 (DRAINAGE S)	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON. Agent MOMO & CO. Design Ltd Registration Date 08/09/23 OF CONDITIONS 2 (APPROVED DRAWING SCHEME), AND REMOVE CONDITIONS 42	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION (Atten: Mr Nick Horvath The Old Bakery 8A Replingham Road London SW18 5LS Case Officer David Gardener S NOS.), 33 (FLOOD RISK (FLOOD RISK EVACUATION	^{0208 545} 4292 DF A Tel. Number ^{0208 545} 3115
West Wimbledon pplications receive Wandle Application Number 23/P2149 Proposed Developme APPLICATION FC REAR DORMER Colliers Wood Colliers Woo	SW20 0HT ed in Village : 13 Ward Ward Wandle ent DR A LAWFUL D ROOF EXTENSIO Ward Ward Ward CR VARIATION (37 (DRAINAGE S 5 (FLOOD RISK S	Registration Date 06/09/23 DEVELOPMENT CERTIFICATE IN RESPEC ON. Agent MOMO & CO. Design Ltd Registration Date 08/09/23 OF CONDITIONS 2 (APPROVED DRAWING	London SW16 6SE Case Officer Lan Pham T OF THE PROPOSED ERECTION of Atten: Mr Nick Horvath The Old Bakery 8A Replingham Road London SW18 5LS Case Officer David Gardener 5 NOS.), 33 (FLOOD RISK (FLOOD RISK EVACUATION G APPLICATION 15/P4798 RELATI	^{0208 545} 4292 DF A Tel. Number ^{0208 545} 3115

Page 12 of 14

AND A LESS SHUTHINGTON	town	Agent	Atten: Mr Jon Murch	
46 - 76 Summerst London	.own	Davies Murch	86-90 Paul Street London	
SW17 0BH			EC2A 4NE	
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2215	Wandle	08/09/23	Charlotte Gilhooly	0208 545 4028
Proposed Developme		00/09/23	Chanotte Chinooly	4020
DRAINAGE) ASS	OCIATED WITH LBN RECTION OF GROU	DITIONS 12 (CONSTRUCTION LOGISTICS PLA I PLANNING CONSENT 21/P2582 FOR ALTER IND, FIRST, SECOND AND ROOF EXTENSION	ATIONS TO EXISTING	
Location		Agent	Atten: Ms Laura Harriott	
337 - 339 Haydons Road		Harriott-Eyles Ltd.	35 Giles Coppice	
South Wimbledon London SW19 8LA			London SE19 1XF	
pplications receive	ed in Wandle : 3			
West Barnes				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2419	West Barnes	05/09/23	Unknown Officer	0208 545
Proposed Developme Oak - : Reduce he		n and reduce crown spread from 14m to 10m		
Location		Agent	Atten: Mrs V Harrison	
50 Phyllis Avenue New Malden KT3		MWA Arboriculture Ltd	Unit 8 Stephenson House 2 Horsley Business Centre Horsley NE15 0NY	
Wimbledon Park				
Wimbledon Park Application Number	Ward	Registration Date	Case Officer	Tel. Number
Applications receive Wimbledon Park Application Number 23/P2031 Proposed Developme CREATION OF A EXISTING BUILD	Ward Wimbledon Park ent SINGLE APARTMEN	Registration Date 06/09/23 NT AT GROUND FLOOR LEVEL WITH ASSOCI	Stephen Hill	Tel. Number 0208 545 4378
Wimbledon Park Application Number 23/P2031 Proposed Developme CREATION OF A EXISTING BUILD	Ward Wimbledon Park ent SINGLE APARTMEN	06/09/23	Stephen Hill	
Wimbledon Park Application Number 23/P2031 Proposed Developme CREATION OF A EXISTING BUILDI Location Turning space to s Place	Ward Wimbledon Park ant SINGLE APARTMEN ING. south of Earlsfield e Industrial Estate	06/09/23	Stephen Hill ATED ALTERATIONS TO	
Wimbledon Park Application Number 23/P2031 Proposed Developme CREATION OF A EXISTING BUILDI Location Turning space to s Place Former Haslemere Ravensbury Terra Wimbledon Park SW18 4SH	Ward Wimbledon Park ant SINGLE APARTMEN ING. south of Earlsfield e Industrial Estate	06/09/23 NT AT GROUND FLOOR LEVEL WITH ASSOCI Agent Bloomfields	Stephen Hill ATED ALTERATIONS TO Atten: Mr Michael Raby 77 Commercial Road Paddock Wood Tonbridge	
Wimbledon Park Application Number 23/P2031 Proposed Developme CREATION OF A EXISTING BUILDI Location Turning space to s Place Former Haslemere Ravensbury Terra Wimbledon Park SW18 4SH	Ward Wimbledon Park snt SINGLE APARTMEN ING. south of Earlsfield e Industrial Estate ace	06/09/23 NT AT GROUND FLOOR LEVEL WITH ASSOCI Agent Bloomfields	Stephen Hill ATED ALTERATIONS TO Atten: Mr Michael Raby 77 Commercial Road Paddock Wood Tonbridge	
Wimbledon Park Application Number 23/P2031 Proposed Developme CREATION OF A EXISTING BUILDI Location Turning space to s Place Former Haslemere Ravensbury Terra Wimbledon Park SW18 4SH 	Ward Wimbledon Park snt SINGLE APARTMEN ING. south of Earlsfield e Industrial Estate ace ed in Wimbledon Park : and Dundonald	06/09/23 NT AT GROUND FLOOR LEVEL WITH ASSOCI Agent Bloomfields	Stephen Hill ATED ALTERATIONS TO Atten: Mr Michael Raby 77 Commercial Road Paddock Wood Tonbridge TN12 6DS	0208 545 4378
Wimbledon Park Application Number 23/P2031 Proposed Developme CREATION OF A EXISTING BUILDI Location Turning space to s Place Former Haslemere Ravensbury Terra Wimbledon Park SW18 4SH	Ward Wimbledon Park snt SINGLE APARTMEN ING. south of Earlsfield e Industrial Estate ace	06/09/23 NT AT GROUND FLOOR LEVEL WITH ASSOCI Agent Bloomfields	Stephen Hill ATED ALTERATIONS TO Atten: Mr Michael Raby 77 Commercial Road Paddock Wood Tonbridge	

Proposed Development LISTED BUILDING CONSENT RELATING TO THE ADVERTISEMENT CONSENT FOR THE PROPOSED INSTALLATION OF 1 X INTERNALLY ILLUMINATED BOX SIGN AND 1 X INTERNALLY ILLUMINATED HANGING SIGN TO BE LOCATED ON THE QUEENS ROAD ELEVATION.

Location		Agent	Atten: Mr Tom Pemberto	on
Ground Floor Unit I	_SU4	Montagu Evans LLP	70 St Mary Axe	
Centre Court Shop	ping Centre	-	London	
The Broadway			EC3A 8BE	
London				
SW19 8YE				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2256	Wimbledon Tow	04/09/23	Stephen Hill	^{0208 545} 4378
Proposed Developmen	t			
		ORKS COMPRISING INTERNAL ALTERATION ID ASSOCIATED ANCILLARY WORKS.	S, EXTERNAL ALTERATION	S
Location		Agent	Atten: Mr Amran Nagra	
Ground Floor Unit I	_SU4	Montagu Evans	70 St Mary Axe	
Centre Court Shop	ping Centre		London	
The Broadway			EC3A 8BE	
London				
SW19 8YE			0	Tel Neuroben
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2336	Wimbledon Tow	05/09/23	Unknown Officer	0208 545
Proposed Developmen				
40 MERTON HALL				
LIMES x 6 - POLLA	ARD			
3 THE QUADRANT	-			
HOLLY - PRUNE				
Location		Agent	Atten:	
40 Merton Hall Roa	ad & 3 The			
Quadrant				
Wimbledon Chase				
London SW19 3QA	۱			
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/P2257	Wimbledon Tow	06/09/23	Stephen Hill	^{0208 545} 4378
Proposed Developmen	t			
ADVERTISEMENT	CONSENT FOR TH	E PROPOSED INSTALLATION OF 1 X INTERN	ALLY ILLUMINATED BOX S	IGN
AND 1 X INTERNA	LLY ILLUMINATED	HANGING SIGN TO BE LOCATED ON THE QU	JEENS ROAD ELEVATION.	
Location		Agent	Atten: Mr Tom Pemberto	on
Ground Floor Unit I	_SU4	Montagu Evans LLP	70 St Mary Axe	
Centre Court Shop	ping Centre		London	
The Broadway			EC3A 8BE	
London				
SW19 8YE				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2406	Wimbledon Tow	05/09/23	Unknown Officer	0208 545
Proposed Developmen				
Yew - reduce by 33	3%.			
Location		Agent	Atten:	
12 Kings Road				
Wimbledon				
SW19 8QN				
Application Number	Ward	Registration Date	Case Officer	Tel. Number
23/T2402	Wimbledon Tow	05/09/23	Unknown Officer	0208 545

Page 14 of 14

REAR False Acacia - re	duction of 1m; dead	wood removed			
Location 29 Quintin Avenue Wimbledon Chase SW20 8LD		Agent	Atten:	Atten:	
Application Number	Ward	Registration Date	Case Officer	Tel. Number	
				0000 545	
		04/09/23 TERATIONS, EXTERNAL ALTERA RKS.	Stephen Hill	^{0208 545} 4378 FACADE	
Proposed Developme WORKS COMPR	ent ISING INTERNAL AL	TERATIONS, EXTERNAL ALTERA	·	FACADE	

Total applications received : 56

LONDON BOROUGH MERTON WEEKLY LIST OF PRE-APPS RECEIVED

FROM : TO :

04 September 2023 10 September 2023

App Number	Ward	Location	Agent	Atten:
23/P2442	Ravensbury	139 Wandle Road	Costa Builders Group	5 Tenby Road
	-	Morden		London
		SM4 6AA		EN3 4JE

Total pre-apps registered: 1



 Merton App No.
 Appeal Address
 Appeal Description
 Start Date
 Status

 Number of
 Grand total of appeals created between 04/09/2023 and 10/09/2023:
 Image: Created between 04/09/2023 and 10/09/2023:
 Image: Created between 04/09/2023 and 10/09/2023: